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B.Com. (Gen./Voc.) EXAMINATION

(For Batch 2017 & Onwards)

(Fifth Semester)
COST ACCOUNTING
BC-5.3

Time : Three Hours Maximum Marks : 80

Note : Attempt Five questions in all, selecting at
least one question but-not more than two
questions from each Unit. Q. No. 10 is

compulsory.
Unit I

1. Define Cost accounting. Differentiate between

Cost and finance accounting. 15
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Describe the various methods of wage
payments utilized in organizations. Discuss
their comparative advantages and

disadvantages. 15

A furniture manufacturer produces 2,000 chairs
every month. The ordering cost for placing an
order is Rs. 200. The cost of wood is Rs 30
per cubic meter. The re-order period is
estimated to be between 1 to 3 months. The
consumption of wood fluctuates between 100
to 250 cubic meters per month, with an average
monthly consumption of 175 cubic meters. The
carrying cost of inventory is 30% per annum.

Calculate the following : 15
(i) Re-order quantity
(i) Re-order level

(iii) Maximum level
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(iv) Minimum level

(v) Average stock level.

Unit II

Prepare a Cost Sheet for the year ended 31.3.86
from the following figures extracted from the

~ books of Best Engineering Co. 15

Opening Stock :

(i) Raw Material Rs. 40,350,

(i) Work-in-Progress Rs. 15,000

(i1i) Finished Stock Rs. 35,590.

Cost incurred during the period :

Materials purchased Rs. 2,50,000, Wages paid
Rs. 2,00,000, Carriage inward Rs. 2,000,

Consumable Stores Rs. 10,000, Wages of
Storekeeper Rs. 7,000. Depreciation of Plant

- & Machinery Rs. 10,000, Materials destroyed
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by Fire Rs. 5,000, Repairs and Renewals Rs.
5,010, Office Manager's Salary Rs. 10,000,
Salary to Office Staff Rs. 20,500, Printing and
Stationary Rs. 10,000, Power Rs. 10,500,
Lighting for Office Building Rs. 2,000,
Carriage outward Rs. 3,000, Freight Rs. 5,000,
Entertainment Rs. 2,500, Warehousing charges
Rs. 1,500, Legal charges Rs. 2,000, expenses
for participating in Industrial exhibition
Rs. 6,000. Closing Stock :
(i) Raw material 35,000,
(i) Work-in-Progress 14,500

(iii) Finished Stock 40,030. Profit 25% on

cost.

A construction company undertook two
contracts namely Contract No. 005 and

Contract No. 052, on’ 1..06 and 1.7.06,
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respectively. On 31st December 2006, when

the accounts were closed, the portion of the

contracts was as follows : 30
Rs.
Materi:il Purchased 30,000
Wages Paid ' 50,000
Wages unpaid 10,000
Other charges 12,000
Plant purchased : 20,000
Cash received 1,28,000

(Being 80% of work certified)
Material lying at site on 31.12.06 4,000
Plant at site on 31.12.06 18,000

The total establishment expenses incurred
during the year amounted to Rs. 25,000. These
are to be chafged to the two contracts in
proportion to wages. rPrepare the Contract

Alcs.
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6. Describe the classification, allocation,

apportionment, and absorption of overheads in

cost accounting. 15
Unit IIL

A bus company has the following opei-ating

- costs : 15
Driver's salary Rs. 3,000 p.a.
Conductor's salary Rs. 1,800 p.a.
Petrol and oil Rs. 25 per 100 km.
Géragc rent . ; Rs. 400 p.m.
Stationery costs Rs. 600 ﬁ.a._
Manager's salary Rs. 5,000 p.a.

The bus makes 3 round trips daily, carrying an
average of 40 passengers per trip, and operates

25 days a month. Assuming a desired profit

margin of 25% on takings, calculate the bus

fare to be charged from each passenger.
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8. During the manufacturing of product A, two
by-products, X and Y, incur the following joint

expenses :

Joint Expenses :

Material : Rs. '1 200
Overhead Rs. 1.500

Total Joint Expenses Rs. 2,700
Subsequent Separate Expenses : |

Product X : Rs. 400 (Material) + Rs. 150
(Overhead)

Product Y : Rs. 300 (Material) + Rs. 100
(Overhead) '

Selling Prices :

i

Product A Rs. 4,000
Product X Rs. 1,200
Product Y . Rs. 900
(2-16/15)B-4533(TR) R | P.T.O




Estimated profits : ; (iv) State any two features of Batch Costing
Product A 25% (v) Define "work in progress".

Product X : 20%
indi i
Product Y 15% (Hindi Version)

Prepare separate accounts showing the cost M : TAF THE A w9 Q HW TH W, AfHA

and profit of each product. R} W few I BC, HA qer w4
ST | W dem 10 ofEd @

9. What is Memorandum Reconciliation

Statement ? Explain in detail, how is it ¥TS 1
prepared. . 154 <4 ‘ :
. rd @i i ufenfya wifse
, | @ - 3R
Compulsory Question fou d@ss & 9 o :
AW wHifST | 15

10. Write short notes on the following : 5x4=20| 2. W+l o 3Iqgh frr R A A &
() What is Ecomomic Order Quantity faf= wlisl #1 avl Fifve | ST oo
(EOQ) ? a9 R el W o=E wifie 15

(i) What do you mean by Joint-product i)
. T W i w@s wER 2000 wRfa

(iii) Describe the Taylor differential piece rate
: EEIGI % | ST -] F o oo
e @
tem. > :
i 200 ¥ 2| wHE W wWE 30 TR WR
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RS Wi

() FoN W 40,350 %
(i) =@ & wafd 15,000 =
(iii) ¥R F 35,500 . |
sy & [ g arE

& T W 2,50,000 %, YA A T
wSIgd 2,00,000 %., 3MEeh WSt 2,000 &., YA
it 10,000 %, WS  wt  Hegd
7,000 % | WE4I w§ WG w1 e B
10,000 %, 3 ¥ = WEER 5,000 ., A
T FEEET 5,010 %, FECE  YEUE  Hl
da 10,000 %, FEGE WE & o
20,500 ., RO TE BRI 10,000 %, Tt
10,500 %., ke o & faQ W e
2,000 %, SEF W A€ 3,000 %, W€l
5,000 ¥, "ARSH 2,500 ¥, WSRU Yoh
1,500 %., S Y% 2,000 %, sheifrs wawi

Hoam o & fau =9 6,000 5 |
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G & et 35,000 &

Gy #d wfa 14,500 T

(iii) g @i 40,030 ®. \
¥ |
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arma W 25%

sk 17.06 F
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30,00d
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12,00
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JHS W 1,28,000
@d ® 80% WA ¥R W)

31.12.06 ! WEE W T Wk 4,000
31.12.06 ® WEe W WA 18,000
o§ % e fru T gE T o R U
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sEdl W T W | FEY @@ daR
g | ‘ 15

.ama.ﬁmimﬁsqﬁmﬂ’fa%mﬁam,ana‘a,

ﬁmﬁrmﬁwwmﬁaﬂﬁqusA

TS 10
7w ww FEE ® Prefaten oReweR @
i 15
aqEd w1 A 3,000 % Wi =9
Fea H AW 1,800 % wfa =d
e ok AW 25 % w100 fEH.
= fHa 400 % R e
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VI w1 A 600 % Wfd =d fawa 9ed

Yy 1 dad 5000 % wfa =" IR A ' 4,000 %.
a0 ufafeR 3 wee @ @, foed wfa IR X 1200 <
et oltmad 40 At eR €, @R W WER IR Y 900 .
§ 25 faq wed 1 FRUT W 25% @ aifea SEtE @ |
a9 Wi Y g, YO AE § age SH IR A 25%
gt 59 fRUu & TOET &S | e X isaas
8. IO X & fmin & 3@, V Iv-3AOR, X PR Y 15%
dr Yy, Foafafes dgs@ =@ 98T SW THF SOE H GFE R o9 IWid g
g . , 15 FEM-IEN W TR F |
wgE A : 9. Auiten fwafaum Ve =1 ¢ ? R
Tl 1,200 % Y wase fF @ W TR fe oS ®
Safte 1,500 . 15
FA IR 7 T A sfad

qE H -3 I e : =
10. Frfafaas X wfa fewfrar fafee @ 5x4=20

IaE X : 400 % (TEE) + 150 € (I9RETA) .
(i) onf® Wy mWEl (EOQ) # 2 ?

IEEY : 300 % (@) + 100 & (S9REER)
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(i) TWIH-IAR A ATH = A T ?

(i) 2eR foded THE W woRR w vl
HifTe | '

(iv)%aamﬁufwﬁaas‘z’rw
AT | '

v) ‘=d # wfa’ = ufwfem Fifeg
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